Efficiency vs dr

o 0.0

[ fake+duplicates vs AR |

<
9.009

o 0.0

<
©.009
$.008
9.007
=

$.006
[oR

$.005
+

%.004

"0.003
0.002

.......

Q

0.001

step. wgeom

—original_: ar-p -ne
QM_pixelCPETemplate_step2_ttbar-phasel-newgeom

D
DOM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom
05 DQM_pixel CPETemplateCutChiSquare5_step2_ftbar-phasel-newgeom_test
G_3 G-_3
10 1072 1 1 10 1072 1 o1
TP min AR track min AR

[ Efficiency vs dr (track,jet) |

[ fake+duplicates vs AR(track, jet) |

4 0.0 =0.0]
= o
.009 0.009
= 3
0.008 H.oos
©.007 %.007
> n
9.006 D.006
o o
2.005 $.005
Q )
0.004 ®.004
0.003 8.003
©
0.002 $.002
X
0.001] 9,001
o G o G
I I
e e
05 0.5F
o~ 0'73
10 1072 107t 10 1072 107
AR(TP, jet) AR(track, jet
[ fake+duplicates vs PU |
5 0.0% 5 0.01 :
9.009 9.0095— ----------------------------- o
.008 B.008F- e S
] = E :
0.007 N0 ]0 74 SRR R R P PP EPE-RPEPPRES T P
= *‘—6‘ - .
%.006 R 10)0)) S SRR SRS S
Q. E :
0.005 -@005;— ...................
0.004 %,0042— ------------------ heeeeeenns Foeeeeeea b
0.003 i O SISITITEE SNSRI S
0.002 0.002k-++++eeeesens bevneeens e e
0.001 0,0012— ................................................
o Q=== P S e e e
3 s P 5 5 :
2 o r . . : :
0.5 0.5+ --+---+ e Beeeeennns O S
% % 50 100 150 200 _ 250




	Contents
	Page 1


